Variabelen eninitialisatie
KLAPPERTIJD (8hit) =0
TIJD (16hit) =0

LDR_STAND (bool) =0

Stroomschema: tuinverlichtingsautomaat

Start

1:donker A
O:licht
N
INPUTS 4_ Manual off?
RB1:manual off
RB2:manual on J
RB3:dusk till dawn
RB4:+1uur UIT laag
RB5:+2uur TIID=0 A
RB6:+3uur
RBO+RB1:+4uur
RBO+RB2:+5uur
RBO+RB3:+6uur N Manual on?
RBO+RB4:+7uur <
RBO+RB5:+8uur J
RBO+RB6:+9uur
RB7:LDR UIT hoog
TIJD=0 |
OUTPUTS
RAO:light
WDT UIT laag N LDR STAND =17
Enabled TIJD=0 —
Prescdle 1:64 J
J
LDRinput =LDR_STAND?
S
KLAPPERTIJD =0 Verhoog
KLAPPERTIJD
v >
N
? KLAPPERTIJD hoog?
J
LDR_STAND = LDR input
KLAPPERTIJD =0
A4 >
SLEEP

Verhoog T1JD




LDR_STAND = 1?

TIID =0 —P@

UIT hoog
TIID=0

N
Schakeltijd +1 uur?
J
W=21uur-W
N Schakeltijd +9 uur?
J
W=9uur-W
W =10 uur - W
N
W<0?
J
UIT laag B
TI1JD = 37000 N LDR _STAND =1?

UIT hoog

v




